Table S1. Observed presence (1) and absence (0), and density (lizards/Ha.) of Iberolacerta
martinezricai at the 67 scree slopes. The table also includes the number of transects per scree
slope, the average length of transects in that scree slope and the number of lizards found within
the 3 metre wide band on each side.

Scree slope Area Presence (1) Number of ?I'Z;I:egci Nu.mber of Pensity

/absence (0)  transects lizards (lizards/Ha.)
length

Bajada Batuecas 0.24 0 1

Batuecas 1 2.46 0 1

Batuecas 2 0.88 0 1

Copero 8.97 1 2 106.4 3 27.96

Copero 1 5.72 1 3 104.6 10 57.52

Copero 2 7.98 1 1 69.1 3 99.39

Copero 3 9.42 1 1 92.5 3 63.54

Copero-Hastiala 1 13.30 1 2 83.6 4 49.58

Copero-Hastiala 2 7.62 1 2 112.8 3 20.22

Fuente Buitrera 0.31 1 1 84.1 3 73.92

Fuente Paterno 6.99 1 2 91.3 9 93.91

Hastiala 1 17.31 1 3 104.3 1 6.61

Hastiala 2 21.41 1 2 93.1 3 31.05

Herguijuela 1 1.23 0 1

Leras 1 1.34 0 1

Lobos 1 8.49 1 2 94.2 1 7.9

Lobos Sur 1 11.09 1 1 77.6 3 39.9

Lobos Sur 2 7.65 1 2 89.1 1 10.67

Maillo 1 2.36 1 2 103.1 2 20.86

Maillo 2 0.50 1 1 81.8 1 214

Maillo 3 1.54 1 1 89.0 2 36.18

Maillo 4 11.73 0 2

Mirador Portillo 1 0.42 1 1 103.0 1 17.19

Mirador Portillo 2 0.17 0 1

Monasterio 2.48 1 1 98.2 1 -

Monsagro 1 12.69 1 2 86.4 7 91.7

Monsagro 2 11.48 1 1 95.0 2 43.63

Monsagro 3 1.51 0 1

Monsagro 4 8.29 0 2

Monsagro 5 13.38 1 1 84.2 2 49.34

Monsagro 5B 8.17 1 2 108.3 1 9.43

Monsagro 6 6.87 1 1 94.3 1 10.98

Monsagro 7 7.82 0 2

Monsagro 8 4.69 0 1

Monsagro 9 3.66 0 1

Monsagro 10 0.89 0 1

Monsagro 11 17.07 0 2

Monsagro 12 8.02 0 2

Monsagro 13 6.43 0 2



Pefia Carbonera 1
Pefa Carbonera 2
Pefa de Francia 1
Pefa de Francia 2
Pefa de Francia 3
Pefa de Francia 4
Pefa de Francia 5
Portillo 1

Portillo 2

Portillo 3
Robledo 1
Robledo 2
Rongiero 1
Rongiero 2
Rongiero 3
Rongiero 4
Rongiero 5

Sur Pena 1

Sur Pena 2

Sur Pena 3

Sur Pena 4

Sur Pena 5

Sur Pena 6

Valle Batuecas 1
Valle Batuecas 2
Valle Batuecas 3
Valle Batuecas 4

Viacrucis

0.97
0.32
1.01
0.50
5.18
471
0.14
1.51
3.10
10.68
15.71
0.58
3.16
2.11
0.61
0.54
2.12
6.66
2.36
0.81
1.93
1.95
0.31
1.77
1.48
21.96
5.38
1.44
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